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Aufgabe 1

Berechne in zwei Schritten, in dem Du die zweite Zahl zerlegst. Trage die fehlenden
Zahlen ein.

a) 27—8: 27 b) 52—5: 52

¢) 23—6: 23— — d) 45—6: 45— —
e) 83—5: 83— — f) 24-9: 24— —
g) 47—9: 47— — h) 65—8: 65— -
i) 36—7: 36— — i) 62—8: 62— —
Aufgabe 2

Berechne in zwei Schritten, in dem Du die zweite Zahl zerlegst. Trage die fehlenden
Zahlen ein.

- - + -
a) T3+8: 73 b) 66+7: 66
¢) 73—6: 73— — d) 88—9: 88— —
e) 33—7: 33— - f) 87—9: 87— —
- - - —
g) 25+48: 25 h) 64—9: 64
, + - , + -
i) 8449: 84 j) 64+8: 64
Aufgabe 3

Berechne in zwei Schritten, in dem Du die zweite Zahl zerlegst. Trage die fehlenden
Zahlen ein.

+ + + +
a) 67+5: 67 b) 26+7: 26

+ + + +
c) 79+3: 79 d) 37+6: 37

+ + + +
e) 88+5: 88 f) 1447 14

+ + + +
g) 2549: 25 h) 57+7: 57
_ + + _ + +
i) 76+9: 76 j) 88+3: 88
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Aufgabe 4

Berechne in zwei Schritten, in dem Du die zweite Zahl zerlegst. Trage die fehlenden
Zahlen ein.

a) 97—8: 97 b) 94—8: 94

¢) 36—8: 36— — d) 26—8: 26— —
e) 27—8: 27— — f) 54—8: 54— —
g) 35-8: 35— — h) 98—9: 98— —
D) 61-5: 61— — i) 15-9: 15— _

Viel Erfolg!

www.dw-aufgaben.de Selte 2 bsp-6677-3/MWTC



